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GENERAL INFORMATION – Continued

Firm Gas Demand Response (“DR”) for Commercial, Industrial and Multi-Family
Customers - Continued

vi) To apply the Weather Adjustment, take the average of the average
daily temperature (in HDD) of the 5 days used in the calculation
of the Unadjusted Baseline. This value will be the Average
Baseline HDD.

vii) Subtract the event day HDD from the Average Baseline HDD.
Multiply the resulting difference by 1.2% and add 1. The result
is the Weather Adjustment Factor. If the result is greater than
1.15, the Weather Adjustment Factor will be 1.15. If the result
is less than 0.85, the Weather Adjustment Factor will be 0.85.

viii) Multiply the Unadjusted Baseline by the Weather Adjustment Factor
to arrive at the resulting Weather Adjusted Baseline.

For holiday or weekend events, the baseline for each account will be
calculated as follows:
i) Take the total event window consumption in each of the last 6

weekend or holiday days, excluding those where a DR Event
occurred (a ‘like’ day).

ii) Of those days, average the event window consumption for the 4
days where the account has the highest event window consumption.

iii) The resulting average is the account’s Unadjusted Baseline.
iv) If, as determined by National Grid, the account is non-

temperature dependent, the Unadjusted Baseline is used to measure
performance relative to actual consumption during the event.

v) If the account, as determined by National Grid, is temperature
dependent, apply the Weather Adjustment to the Unadjusted
Baseline.

vi) To apply the Weather Adjustment, take the average of the average
daily temperature (in HDD) of the 4 days used in the calculation
of the Unadjusted Baseline. This value will be the Average
Baseline HDD.

vii) Subtract the event day HDD from the Average Baseline HDD.
Multiply the resulting difference by 1.2% and add 1. If the
result is greater than 1.15, the Weather Adjustment Factor will
be 1.15. If the result is less than 0.85, the Weather Adjustment
Factor will be 0.85.

viii) Multiply the Unadjusted Baseline by the Weather Adjustment Factor
to arrive at the resulting Weather Adjusted Baseline.
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